V R &8 B #m k1 74 R

ES X1 B Firl 3

F# IR JE ) JE x = S it E

°C m,/ s EET K IH] N I £ °C
El B RS 0 OF T 20F T51 T000m| (06~18h) (18~3Fo06h) [ & | [# km[ 09FF] 2105
1f15.9 | 6.9 [11.1 N 4.1 |ESE 3.2 |sw 4.1 [WNW 14.9 | W ey H3J10.1 [25.0 [10.2 | 5.3
213.6 | 7.6 |10.8 N 4.1 |NNE 3.0 |SE 2.6 |SE 51| & 2 H3) 0.9 |15.0 | 6.1 ] 0.9
3020.6 | 8.9 |15.2 [sw 3.1 |sw 5.0 [S 4.1 |sw 8.2 | Hems 1% F1f10.1 120 | 5.2 | 6.0
412.3 | 4.8 | 8.1 |NNE 4.6 N 6.0 N 5.7 IN\NE 17.0 | fiteE—FHE | B L3] 2.8 |12.0 | 6.6 | 1.3
5017.8 | 6.2 |12.1 [N 2.6 | 3.0 |sw 4.6 |sw 8.2 | W i H4010.6 | 8.0 ] 5.0 |-1.1
6]24.3 [10.0 [17.1 [SE 1.5 |SSE 3.0 [s 5.2 |W 7.2 | WE%HEE = H4f10.3 ] 8.0 [-3.4 |[-2.1
7121.8 |16.8 [18.8 [sw 7.7 |WSW o 12.0 [SW 10.8 [WSW  14.9 | ZEf4HE Je H4] 5.8 |30.0 | 3.9 |-1.1
8)24.7 [12.9 |19.0 N 3.6 |E 5.0 N 4.6 |WNW 7.2 | P i 2 A2 H1f10.3 [10.0 | 6.6 | 5.2
9f19.9 [11.1 |14.8 |E 3.6 S 3.0 |sw 5.2 |W 7.2 | W 2 — H3) 9.6 |15.0 | 7.0 | 2.8
10§22.4 [14.0 [17.9 |E 1.5 |s 7.0 [sw 9.3 |SsW  14.9 | igHE xR e e—ieR | H5) 6.8 [10.0 | 1.9 | 2.4
11]19.6 | 7.2 ]13.0 [NNw 2.1 INE 3.0 INE 3.6 |S 3.1 |’ FNfaRf 42 | L3 —[50]30] 20
120 9.0 | 6.6 | 7.4 N 3.6 N 5.0 |NNE 4.6 |ENE  12.9 | figMixc 2 | xS L3 —| 25701 3.4
13§10.6 | 7.0 | 8.6 [N 3.1 N 3.0 IN 1.5 |NNE 5.1 | MkFx 2 FRIRE % 2 F3 —| 40]27] 33
14§18.6 | 6.7 [13.0 |SE 2.6 |s 5.0 |Ssw 5.7 |sw 4.1 | e i H2Q11.9 |12.0 | 3.6 | 7.5
15§21.0 |10.5 |15.8 |NE 2.1 |ssw 5.0 |Ssw 6.2 |ssw 6.2 | Wi« R R H4f11.1 | 5.0 | 6.4 | 4.4
16§18.9 [11.1 [14.8 |NE 3.1 |ENE 4.0 INE 2.6 |ENE 8.7 | =—Mig G — i H3l 49 0.0 7.5] 3.7
170123.0 | 9.7 |16.5 |S 3.1 s 5.0 |sw 5.7 |sw 6.2 | tems = H2f11.2 | 8.0 3.3 ] 4.9
18§16.2 [11.2 [13.3 |ENE 3.1 |E 3.0 [E 3.1 |ssw 3.1 | & Mg - & [ H3| 0.3 [20.0 | 6.2 | 4.4
19§21.8 | 9.4 |[14.8 |NE 1.0 |SE 2.0 S 3.1 [wNw 5.1 | W = H3]10.7 |10.0 | 4.1 | 0.7
20014.7 |11.2 |12.7 |N 1.5 |E 2.0 [s 3.1 s 13.9 | fi—K R IR % & L3 4.0 ] 2.5 | 4.4
21022.9 |10.2 [15.7 [ESE 1.0 [SE 3.0 [sw 8.2 |w 5.1 | HE—HE i3 H4) 5.6 1220 ] 6.7 1.8
22019.4 |10.5 |13.9 [N 4.1 |ESE 2.0 |SE 3.6 |NNW 7.2 | HE—RER i H4) 6.1 |10.0 | 9.2 | 5.4
23]19.6 | 9.1 |14.9 |ESE 2.1 |SE 4.0 |SSE 2.6 |WNW  11.8 | 2 i H4] 9.8 |25.0 |10.6 | 6.6
24]18.6 |10.3 |13.8 [E 3.1 |E 3.0 |SSE 4.6 |w 2.1 | Wi —WpE | Bt —MEE | H3] 9.9 [40.0 | 8.6 | 4.9
25019.6 |10.6 |14.4 [N 3.1 [E 3.0 |SE 3.1 s 10. 8 F3] 3.3]10.0] 39| 7.3
26]19.9 |11.6 [15.4 [SW 2.1 |SE 4.0 |SSE 3.1 [w 2.1 WE—mpda | 13| 2.9 [12.0] 7.5 ] 0.2
27]21.4 |10.6 |16.2 [S 3.6 S 5.0 [S 7.2 |sw 8.2 | W VSIS H4Q11.0 |12.0 | 6.4 | 3.1
28]25.4 |15.2 [20.0 [ssw 5.7 |sw 9.0 |sw 9.8 |WsW  11.8 | i 1% H4)Q12.0 |12.0 |-0.9 [-2.1
29]28.4 |18.7 |22.5 [SSW 6.7 |sw 7.0 |Ssw 5.2 |W 9.8 | Pemg SIS H4JQ10.0 |12.0 | 2.8 | 1.1
30022.9 |15.3 |18.5 [E 3.1 |ESE 3.0 |sw 4.1 |w 3.1 | W —REEE | A H2) 9.3 |30.0 | 6.1 | 3.4
R 1 TS A
ES X1 B Firl 3
F# R i) BOHE ES e A B E
°C m,/ s EEE K IH] BN I £ °C
= Y EES 0 9F T 2 F T 5 T000n (06~18h) (18~Foeh) | A | ™ km| OOMF| 21MF
1f24.2 115.2 [19.4 |S 4.6 |SW 5.0 [S 6.2 |SSh 12.9 | & Feg Ry F3f 1.4 ]20.0 | 6.4 ] 2.7
2§26.7 [15.1 [20.0 |N 4.6 N 7.0 |E 2.6 N 6.2 | & 2 H3) 4.7 |15.0 | 3.5 | 1.1
3022.3 [14.3 [16.9 [E 1.5 |ESE 3.0 |s 2.6 |NE 2.1 | Wiz VSIS H2) 7.2 |25.0 | 7.4 | 3.6
4)22.8 [13.7 |18.4 |sw 5.2 |Ssw 6.0 |sw 7.2 |sw 8.7 | g S H2Q12.2 |30.0 | 7.4 |[-0.6
5023.7 |15.6 [18.9 [NE 2.6 |E 3.0 |ESE 3.1 |Nw 2.1 | W = H2010.2 |20.0 | 3.4 | 1.7
616.7 | 9.8 [13.8 INE 3.1 INE 3.0 INE 2.6 |SE 7.2 | B iR L2 —130.0 | 3.1 [-0.9
7019.7 [10.1 [14.3 [N 4.1 IN 2.0 |ESE 2.6 |S 5.1 | MREx BRI P F3] 5.6 | 8.0 |-1.0 |-0.1
8)20.2 [13.6 |16.2 |E 2.6 |ENE 3.0 [E 3.6 |s 7.2 | & 2 F3l 1.7 50 47 26
9f23.2 [13.6 |18.1 |E 2.6 |ESE 3.0 |s 5.7 IN 2.1 | WmEx 2 | 2 H2Q10.5 | 80| 3.1 ] 1.8
10§21.9 [14.8 |17.8 |N 3.1 |SE 4.0 |SSE 3.6 [Www 14.9 | B xnE i 2 AR H2| 7.1 [30.0] 9.8 ] 6.4
110172 [12.3 J14.2 [NNE 2.1 INE 2.0 |ENE 3.6 |ESE 4.1 fif F3f] 3.7 13.0]60] 3.6
12§18.2 [10.5 |13.8 |NE 2.6 |ENE 3.0 [E 4.6 |NNE 5.1 ] F3) 4.1 ]20.0 | 6.9 4.8
13§15.2 [10.0 [12.5 |NNE 2.6 |NNE 3.0 |ENE 5.2 |NE 7.2 = F3 —[30.0 ] 8.9 3.5
14§17.3 | 9.3 [13.0 |E 2.1 |ESE 3.0 |ESE 3.6 |\ 5.1 2 H3| 4.5 [15.0 | 7.3 | 4.2
15021.1 [12.7 ]15.0 |N 3.6 |E 2.0 |sw 6.2 |wsw 8.7 S F2) 1.8 6.0 40 4.3
16§22.9 [11.3 [16.0 N 7.7 |NNE 5.0 |s 4.6 |\W 5.1 i3 H3]12.8 [40.0 |10.2 | 4.7
17§20.8 [11.8 [15.9 [N 2.6 |E 3.0 [E 3.1 INE 4.1 it H3]10.0 |30.0 | 7.8 | 2.7
18§22.4 [15.0 [18.6 |SSW 6.2 |sw 8.0 |sSsw 8.2 |ssw 17.0 ] Li] 5.6 ]15.0 | 9.7 ] 5.5
19026.7 [18.7 |21.9 [sw 7.7 |SSE 5.0 |SSE 3.6 |W 7.2 A H3) 8.5 |60.0 | 6.2 | 5.4
20022.5 |16.3 |18.7 |E 2.6 |E 2.0 |sw 3.6 |\ 2.1 G — H3) 3.0 |25.0 | 8.9 ] 2.9
21§24.6 [14.8 [19.4 [ENE 1.0 [ESE 3.0 [ssw 3.6 [sw 2.1 = H4) 9.4 [10.0 [ 6.1] 3.7
22022.8 |17.7 |19.4 [sW 3.1 |Ssw 4.0 |SSW 8.8 [S 8.2 e~ 2% | H3 | 0.7 [12.0 | 5.2 ] 3.9
23]25.7 |15.6 [19.7 [N 2.6 |ESE 4.0 |SE 5.2 |NE 3.1 = F2]10.0 |15.0 | 8.7 | 3.2
24124.5 |13.6 [18.4 [ssw 3.1 |SSE 2.0 |ESE 3.6 |W 8.2 R I 2 42 F2f 8.3 ]|20.0 | 8.2 | 2.7
25021.8 |13.4 |16.6 |E 4.6 |ESE 4.0 |E 3.6 [N 6. 2 fif H3010.6 |10.0 | 7.4 | 3.0
26]24.1 [13.7 [18.0 [E 2.6 |ENE 4.0 s 2.6 |ENE 4.1 i H5013.0 |12.0 ] 6.4 | 1.3
27]125.1 |15.2 |19.8 [E 3.1 |SSE 4.0 |ssw 5.2 |SSW 6.2 R Hs5f12.0 | 7.0 | 5.5 | 7.4
28]24.6 |16.6 [20.3 [E 2.1 |ESE 2.0 |SSE 3.1 |s 3.1 R 2 i H3) 4.6 | 8.0 7.8 | 3.5
29]22.0 |15.2 |18.1 N 2.6 |ENE 3.0 [E 5.2 |E 8.2 B2 [ H3)] 3.2 |15.0 | 5.0 | 0.5
30017.4 |15.0 |16.4 [N 6.7 N 5.0 |NNE 4.1 |E 12.9 Kifd L3 —| 254052
31025.0 |13.8 [18.3 |NNw 5.2 |NNW 5.0 |wsw 3.6 [N\NE  19.0 B & F3] 3.3]20.0] 6.1] 3.9
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R 1 76 A

ES X1 B [ 3
F# E i) JEIGEE ES e B S E
°C m,/ s EET K IH] N I £ °C
=l EEI A EES 0 Of T 20F 150 T000m| (06~18h) (18~3Fo06h) [ & | [# km| O9FF[ 21FF
1125.6 [17.2 [21.0 |E 1.5 |SE 2.0 [S 4.1 |Wsw Lo | BT | = Hal 7.2 5.0 2.4 4.0
2§22.5 [16.4 |19.5 |sw 3.1 |ssw 3.0 |sw 4.1 |sw 7.2 | WA 2 i F3 —l10.0 | 5.8 | 4.5
3021.9 [15.9 [18.5 [N 3.6 |ESE 3.0 |SE 3.6 |NE 4.1 | & 2R F3flo8 |50 4123
4)23.4 [16.5 |18.5 |E 2.6 |E 3.0 |SE 3.6 |\ 2.1 | 2—H5hE 2l F3l30]80] 1.6] 1.8
5025.7 |17.9 [20.7 [wNw 1.0 |E 3.0 |ESE 3.1 INE 2.1 | g Rl G H3| 6.4 ] 40| 7.4 4.4
6f27.0 [17.8 |21.7 |E 2.6 |ESE 3.0 |ESE 4.1 |w 2.1 | P %2 H3J11.8 |10.0 | 7.9 ] 0.0
7024.8 [17.6 [20.3 [E 2.6 [E 3.0 [E 4.1 |ESE 2.1 | 2 B — IR H5) 6.2 | 7.0 50] 3.1
8)24.9 [17.6 |20.5 |E 2.6 |E 3.0 |s 3.6 |SE 2.1 | #2 % H5) 5.4 |25.0 | 6.8 | 2.0
9)26.4 [18.9 |22.0 |N 2.6 |SE 3.0 |Ssw 3.6 |s 4.1 | E—y T i H5) 48| 7.0 8.2 438
10§21.7 [19.5 [20.5 |NNE 2.1 N 3.0 N 4.1 |ESE 4.1 | © iR I & F3 —l12.0 | 7.7 | 3.4
11§23.4 [19.7 [21.6 |ESE .o [s 3.0 [s 4.6 |NE 5.1 | &—HFR E—FN F2 —[15.0 ] 5.8 ] 3.7
12§29.5 [20.6 |24.0 |ESE 2.6 |ESE 2.0 |SE 3.1 INE 6.2 | H2 % H3) 6.0 ]| 6.0 5.6 [ 2.4
13]26.8 [20.0 [23.2 |E 3.1 [E 6.0 |ENE 3.6 |NE 8.2 | W—mjz Rl 2 i H3) 7.8 |25.0 | 7.1 | 2.4
14§24.7 [19.0 [21.2 |E 4.6 |E 3.0 [E 4.6 |NE 6.2 | WG o H3) 3.7 |10.0 | 5.0 | 4.0
15§20.3 [18.0 [18.9 |NNE 3.1 |NNE 4.0 IN 4.1 INE 6.2 | I ERREES L3 —|6.0]59] 55
16]19.6 [17.0 [18.5 |E 3.6 |E 4.0 |E 2.6 |ENE 51|/ %2 L3 —l10.0] 6.8 | 3.1
17§23.2 [17.0 [20.2 |SE 2.1 |SSE 5.0 |s 3.1 |WNW 3.1 | B—Wg 2 F3l 1.9 80| 7.1]5.0
18§26.5 [20.1 [22.4 N 3.6 N 3.0 [E 3.6 |SE 2.1 | 2% b — H3) 6.0 | 6.0 ] 3.8] 3.3
19§25.7 [20.3 [22.3 |SSE 1.5 |SSE 3.0 |s 4.1 |SSE 2.1 | & BT F3lo7]80] 4155
20028.1 |20.0 |23.5 |NE 1.0 |ESE 3.0 |s 4.1 |s 1.0 | #E i H3l 7.8 70| 51 ] 3.1
21027.9 ]21.3 [23.9 [Ssw 2.1 |SSE 6.0 [S 5.7 1S 5.1 | & —H5E AR H3] 5.8 [10.0 ] 5.7 ] 3.9
22023.9 119.7 |21.9 |ENE 2.1 |N 4.0 |NNW 3.1 |ESE 5.1 | Kitk& etk —REN L2j 01| 1L5] 56| L7
23]26.3 |21.4 |22.8 [SW 4.1 |sw 3.0 |sw 3.6 |SSE 1.0 | Zix [ 2 F3l 0.6 | 40| 40/ 42
24]29.3 120.6 |24.4 [N 1.5 |SSE 4.0 |wsw 3.6 |ENE 2.1 | & H3) 42|50 6.0] 2.4
25030.5 |21.9 |25.7 |wsw 2.1 |ssw 4.0 |ssw 4.1 |SE 1.0 | % H3010.6 | 5.0 | 4.4 ] 0.8
26]30.7 122.9 [26.3 [SW 2.6 |SSW 3.0 |sw 5.2 |w 3.1 | H4) 7.0 |10.0 | 3.2 | 1.3
27032.0 123.1 [27.6 |S 3.1 |ssw 6.0 |sw 7.7 |Nw 3.1 | e B IRERE H4] 6.9 |10.0 | 3.8 | 0.1
28]35.5 |25.0 |29.6 |Wsw 5.7 |Wsw 4.0 [SSE 4.1 |WNW 14,9 | HERAKE %N H4] 8.8 |120.0 | 3.6 | 2.7
20025.4 |22.4 [23.5 [Ssw 0.5 |SE 1.0 |E 2.1 |sw 2.1 | e BN F2 —|50]42]20
30027.4 |22.4 |24.2 |SE 2.1 |ENE 2.0 |ESE 1.5 |sw 3.1 | 2B = F2l 3.7 4060 22
R 1 THETA
ES X1 B [ 3
F# E i) JEIGEE ES e A B E
°C m,/ s EEE K IH] BN I £ °C
=l EEI A EES 0 OFf T 20F 150 T000m| (06~18h) (18~3F06h) [ & | [ km| O9FF[ 2107
1§27.4 [23.2 |24.3 |SSE 2.6 |SSW 4.0 |sw 6.2 |SSW 4.1 | =%W R 1% 2= F1f 0.4 |10.0 | 42 ] 2.2
2§28.5 [21.6 |24.9 |E 1.0 |wsw 2.0 |s 3.1 |\w 3.1 | & 2 F2lo0.8]50] 63|10
3023.1 [19.0 [21.1 [N 2.1 INE 2.0 |ENE 2.6 |SSE 5.1 | &th—FFl 5] F3 —|15.0 | 3.5 ] 2.1
4)21.8 [18.6 [20.1 |ENE 2.1 |NNW 3.0 [NW 3.6 |SSE 12.9 | ii—HE R4 F2 8.0 41| L5
5028.7 |20.4 |23.7 [ESE 1.0 |ESE 3.0 |s 2.6 |Nw 2.1 | & 55 F3] 3.9]1220]39] 0.1
6§23.3 [19.8 [21.0 N 2.6 [E 2.0 |SSE 1.5 |NNE 3.1 | W [EHERE F3flo1]80]39]27
7027.4 [20.1 [23.1 [sw 3.11s 5.0 |s 5.2 |s 5.1 | &—WFy - &F| W5l - F| F3) 2.4 [10.0 | 6.8 ] 4.0
8)27.4 [19.7 [23.2 |ENE 2.6 |E 4.0 |E 4.6 |ESE 4.1 | 2 2R F3l 2.3]80]53]3.0
9)23.7 [19.4 |21.6 |N 2.1 [E 2.0 [E 1.5 |Ssw 6.2 | s —WFRR NGRS F3 —| 40| 24| 1.9
10§30.2 [20.6 |25.8 |s 2.1 |sw 6.0 |sw 6.7 |Wsw 7.2 | & 2 Li1] 6.4 ]25.0] 5.0 0.4
11}31.4 [24.5 [27.7 [E 1.5 |[Ssw 3.0 [s 3.6 |WNW 8.2 | & = F2l 5.0] 80 48] 2.5
12§28.8 [19.4 [23.5 |sw 3.6 N 3.0 INE 1.5 |sw 8.7 | & 2% | F2] 0.6 | 6.0 |-0.2 |-0.4
13]24.5 [18.8 [21.5 [N 2.1 |ENE 2.0 [E 2.1 |NNW 3.1 | B & F3 —| 50|45 40
14§25.2 [21.1 [22.8 N 2.6 N 2.0 |E 1.5 |Ssw 7.2 | 22— = F3flo1]50]21]3.6
15§31.0 [22.7 [26.2 |s 2.1 |SSE 4.0 |SSE 4.6 |NNW 2.1 | W 2 — I H50 9.1 ] 40 6.4] 2.2
16]31.2 [23.9 [26.9 [E 2.6 |SE 4.0 s 4.6 |WNW 2.1 | 2% Baiianw | F2l 77803936
17§30.2 [25.1 [26.9 [E 2.6 |SSE 3.0 |s 3.1 N 1.0 | & St —RiE | F2] 2.0 | 6.0 6.1 | 3.4
18]31.6 [24.5 [28.0 |ENE 1.5 |SSE 6.0 |s 5.2 |NNW 3.1 | W 2[R H4)11.4 | 6.0 ]| 5.8 1.5
19§31.5 [24.6 |27.2 |s 1.5 |Ssw 2.0 |s 2.6 |WNW  10.8 | RN 2 F2l 3.0]60]51]3.8
20029.5 |23.5 |25.6 |[SE 2.1 |SE 3.0 |SSE 5.2 |Wsw 4.1 | & T H3) 4.5 |12.0 ]| 7.5 | 5.3
21029.0 22.8 [25.6 [Sw 3.1 [sw 5.0 [sw 3.6 |W 5.1 | 2 I 2 H4] 8.0 |15.0 | 5.6 | 1.6
22027.7 |22.2 |24.6 |ESE 2.1 |E 6.0 |ENE 5.2 IN 2.1 | & 2R F3l 1.5 ] 80| 42| 4.9
23124.6 |20.2 [22.1 [NNE 1.5 |SE 1.0 |SE 1.5 |NNE 3.1 | &—HFE = F3 —|15.0 | 6.0 ] 4.6
24]26.1 |21.4 |23.7 [E 1.5 |E 1.0 |SE 1.5 |sw 4.1 | B—FE ] F3 —| 60|55 458
25030.2 123.1 |26.1 |E 2.6 |s 3.0 |s 4.6 |ssw 4.1 | & Y — F2] 2.2 1 9.0] 6.3] 3.6
26]26.6 [23.2 |24.7 |E 3.1 [SE 7.0 |ESE 4.6 [SE 12.9 | /¥ T2 & T —]30] 30|42
27135.2 |24.2 |29.2 [Sw 1.5 |Ssw 4.0 IN 3.1 |wNw 170 | mF i H1] 9.1 |25.0 | 5.3 | 4.6
28]31.5 |24.4 |27.1 [S 2.6 |SSW 3.0 |sw 5.2 |Wsw 5.1 | W ERiL H4)12.5 |35.0 | 6.0 | 1.6
29131.9 |24.0 [27.7 [ENE 1.5 |SSE 4.0 |s 4.6 |WSW 5.1 | W B[ H4) 9.3 |80 7.0/ 5.6
30032.0 |25.3 [27.5 [ENE 2.1 |SE 2.0 |sw 4.6 |NNE 6.2 | & 2 H4) 0.9 | 40| 4.4 ] 5.2
31031.9 |25.8 |27.7 |N 2.1 |ESE 3.0 |ssw 5.2 |ENE 2.1 | B i H4) 5.9 | 80| 55| 3.3
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L1 7THES A

ES X1 B Firl 3
F# R D2 T WS 4 ES e B S E
°C m,/ s EET K IH] N I £ °C
=l EEI A EES 0 9FF T 20F 150 T000m| (06~18h) (18~3Fo06h) [ & | [# km| O9FF[ 21FF
1131.4 [24.9 |27.6 |SW .1 |SSE 5.0 |SSW .2 |sw 6.2 | =M WL % ¥R | L5] 6.9 |20.0 | 8.2 | 5.6
2§30.1 [24.6 |27.0 |SE 3.6 |SSE 5.0 |s 3.6 [S 8.2 | MEtLE—WFrl H5] 3.3 |15.0 | 8.2 | 6.2
3032.7 [25.5 |28.1 [ssw 3.6 |sw 4.0 s 5.7 |Ssw 8.2 | Wiz & H5| 8.7 |10.0 | 7.9 ] 5.0
4)33.3 [25.8 |28.8 |E 2.1 |ESE 3.0 |ESE 2.1 INE 4.1 | 2—BEE H4| 7.9 | 80| 5.8 ] 2.8
5034.8 [25.7 [29.0 [N 1.5 |ESE 4.0 |SE 4.1 |ENE 3.1 | W [ H2Q11.4 | 8.0 ] 59 ] 2.9
6]33.4 [25.8 [28.6 |SE 2.6 |S 4.0 |sw 5.7 [E 2.1 | W 2% —E | HaJ0.7 ] 6.0 7.3 4.9
7132.8 [25.8 |28.7 [w 2.1 |ssw 4.0 |ssw 4.6 |Ssw 2.1 | Wit 9.3 [10.0 | 5.8 | 2.6
8)32.2 [25.3 [28.3 |ESE 2.6 |s 5.0 |s 3.6 |SE 2.1 | ME% g 9.6 [15.0 | 7.3 | 3.1
9l31.3 |25.3 [27.4 |ESE 2.6 |SE 2.0 |SSE 3.6 |ENE 3.1 | Wi 6.3 80 43|43
10§31.1 [25.7 [27.6 |sw 2.6 |SSE 4.0 |s 2.6 |sw 5.1 | &—BR 3.2 [10.0 | 5.8 | 3.8
11]31.4 [25.1 [27.3 [E 2.6 |E 3.0 [SE 3.1 |\NE Lo |2 3.8 |15.0 | 7.3 | 4.7
12§29.3 [24.1 |26.5 |s 3.1 |sw 3.0 |s 3.1 |sw 5.1 | Z—W LI 0.1 |15.0 | 4.9 |/
13§30.7 [23.9 [26.5 [N 4.1 |NNE 2.0 [N 3.6 [I\NE  10.0 | & = 20 0.7 |15.0 | 3.7 | 3.1
14]32.3 [24.2 |27.5 |SE 2.6 |SSE 4.0 |sw 5.2 |NNE 2.1 | W 2 H4)010.9 |15.0 | 5.9 | 3.5
15033.5 [25.8 ]29.0 [N 1.0 |SSE 4.0 |SSE 4.6 |W 1.0 | 7 2= Ha4f 8.1 80 7.2 1.9
16§28.3 [24.4 [26.1 |ENE 1.5 |NE 3.0 [E 3.6 |NNE 8.2 i L3l o.3]10.0] 7.4]3.1
17§31.1 [23.4 [26.7 |ENE 3.1 [E 4.0 [E 2.6 |NNE 3.1 Fghic 2 | 13| 9.5 [15.0 | 6.6 | 3.6
18]31.9 [24.8 [27.6 |ESE 1.5 |s 4.0 |s 5.7 |SsW 4.1 lPSi H5) 6.4 |15.0 | 5.4 | 4.1
19032.2 [26.1 |28.6 [ssw 4.6 |sw 7.0 |Ssw 5.7 |sw 7.2 it H5Q12.1 |30.0 | 7.2 | 4.0
20032.5 |26.0 |28.6 |[SW 3.6 |sW 7.0 [ssw 7.2 |sw 6.2 i H5012.3 |15.0 | 6.7 | 3.9
21030.9 [26.2 [27.9 [ssw 6.7 [Ssw 5.0 [sw 7.2 [sw 12.9 [ H5) 8.2 200 | 7.1 | 4.6
22030.1 |26.1 [27.4 [ssw 4.6 |sw 5.0 |s 4.1 |sw 14.9 i p 4 H5f 2.2 |15.0 | 6.0 | 3.8
23032.2 |22.2 [27.4 |sw 5.7 |sw 5.0 |sw 3.1 W 6.2 Kili - & F2] 3.4 |15.0 | 7.7 | 5.1
24]27.7 |22.2 |24.0 NE 2.1 |ENE 4.0 |ENE 2.6 |E 5.1 %N F2Q 0.1 |25.0 | 5.0 | 4.9
25025.6 |21.7 |23.6 [N 3.1 s 4.0 |E 4.1 |SE 11.8 RN T —[80]26] 42
26]33.1 [23.8 [28.0 [SW 3.1 |sw 4.0 s 2.6 [N\NW18.0 1% 5 TJ57]20] 46| 2.5
27031.5 |25.2 |27.5 |E 3.1 |E 4.0 |E 3.1 s 4.1 = H4) 6.7 |20.0 | 5.8 | 4.9
28]28.2 122.9 |25.0 [N 3.1 N 3.0 |E 4.1 |E 8.2 B2 [ F3) 3.4 ]|25.0 | 5.4 | 6.1
29]30.2 |22.5 |25.6 [N 1.5 |ESE 3.0 |SSE 3.1 |NNE 3.1 i H2) 9.7 |15.0 | 6.5 | 3.3
30030.1 |22.6 [25.4 [SSE 2.6 |SSE 5.0 |sw 4.6 |s 6.2 | WEEE Il | &Kl H5] 7.6 |12.0 | 6.0 | 5.2
31027.4 |22.9 [24.7 |N 2.6 |ENE 2.0 |SE 1.5 |wNw 4.1 | & B F2f 0.3 ]20.0 | 5.4 3.5
- PR 1 79 A
B Xl H i 3
# - B [ K & ol i E
°C m,/ s A &I EN S & °C
=1 EETE R0 RS 0 9 1 21 T 5F T0O0Om (06~18h) (18~Foeh) | ™ | M km|[ OOWF[ 21MF
1§30.9 [22.5 [26.1 N 1.5 |E 3.0 |SE 2.6 |SSE 2.1 | 05 DR H5 f11.0 [ 8.0 [ 5.3 ] 1.1
2131.6 [23.4 |26.8 |ESE 1.5 |SSE 4.0 |SSW 3.6 |WSw 2.1 | MERMEE ARG 5 J11.3 | 6.0 | 4.8 | 2.9
3131.2 [23.8 [27.0 |s 2.6 |SSE 4.0 |sw 4.1 |s 1.0 | W~ 2 i H5 f11.1 f10.0 | 5.0 | 2.1
4)31.7 [23.8 |26.7 |N 1.5 |ENE 2.0 |ESE 3.6 [Ssw 6.2 | & simsei, maps| 5 ) 4.7 [ 9.0 5.1 ] 4.8
5025.6 [21.9 [23.5 [NNE 1.5 N 2.0 |NNE 2.1 |SSE 3.1 | %R i T —|10.0 | 49| 3.5
6]26.2 [21.5 [23.6 N 2.6 [N 3.0 N 1.5 [E 5.1 | WERFx & | Wl TJ03]50]|46]| 43
7029.7 [25.1 [26.5 |s 9.8 |s 10.0 [ssw 9.3 |s 20.1 | 2 5 T ] 24]2.0]283]3.4
8131.9 |24.7 [27.6 |swW 3.6 S 5.0 [Ssw 3.6 [WNw 7.2 | PemE k2 H3 f11.7 [25.0 | 5.3 | 5.5
9f26.1 [23.7 [24.8 |NNE 2.1 INE 2.0 |ENE 1.5 |SSE 3.1 | 2 B AE | H3 —[25.0 | 5.0 ] 3.6
10§31.6 [22.9 [26.3 [N 0.5 |ESE 3.0 |s 4.1 |s 6.2 | Wiz i 5 | 8.0 [10.0 | 6.3 | 4.9
11f31. 1 [22.3 [25.6 |ENE 1.5 [SE 2.0 [w 4.1 |NNW 1.0 | 2% W | 2cN He [ 5.6 [20.0 [ 5.1 1.6
12§30.5 [22.0 [25.7 |E 2.1 |ESE 3.0 |ssw 3.1 |NNw 1.0 | e VSIS H2 f11.6 [10.0 | 2.2 | 2.7
13§32.0 [24.0 [27.3 |SSW 2.1 |SSE 4.0 |s 4.1 |\w 5.1 | HkF 2 @2 | H4 §10.1 [10.0 | 2.5 | 1.7
14]31.0 [24.8 |27.3 [sw 6.7 |sw 9.0 |ssw 7.2 |sw 11.8 | et i H4 f11.5 [30.0 | 4.2 | 1.5
15§27.0 [21.4 [24.3 |E 6.7 |ENE 6.0 |E 5.7 |NNE 6.2 | & 2 H3 | 3.0 [25.0 | 6.2 | 7.7
16]25.8 [19.7 [22.2 [E 4.1 [E 5.0 [E 4.6 |NNE 5.1 | EREx I — H3 | 4.3 [20.0 | 86| 3.0
17§28.3 [18.2 [22.9 N 3.1 |ESE 3.0 |ESE 3.1 |s 4.1 | W i H3 f10.6 [15.0 | 8.4 | 3.1
18§30.0 [20.9 |24.7 |ENE 1.5 |s 4.0 |ssw 4.1 |sw 7.2 | P e H4 f11.4 [15.0 | 4.6 | 3.3
19§29.7 [22.4 [25.3 |NNE 1.0 |SSE 4.0 |SSw 3.6 |\ 3.1 | Kt Eefl — NG H4 ] 9.6 [12.0 | 5.1 | 4.0
20028.3 |22.3 |24.5 |E 2.1 |E 5.0 |E 4.1 |ESE 4.1 | B—RFR E—IF F2 ) 1.4 40)69] 3.1
21]26.5 |22.1 [23.7 [ENE 2.6 [E 5.0 [E 3.6 |NNE 7.2 | & 2 2350|7277
22]23.3 120.8 [22.0 [N 3.1 N 3.0 [N 2.6 |SE 6.2 | &—HFE = H3 —|25.0 | 7.5 ] 3.1
23]29.5 |20.6 |24.7 N 1.0 N 2.0 |E 3.11s 6.2 | I 2R F1]6.4]80] 58|42
24125.4 120.3 [22.1 [NNE 3.6 |NNE 3.0 |NNE 3.1 |NE 7.2 | = A —HE T —|15.0 | 4.2 ] 40
25022.3 |17.6 |20.2 N 6.2 IN 10.0 [N 10.3 |NE 17.0 i 2 AR TJos5[300]21]6.2
26]24.8 119.2 [21.0 |NE 2.1 [E 3.0 |SE 2.1 N 6.2 | =& 2R H3 | 1.8 [30.0 | 8.2 | 6.4
27021.8 |17.4 |19.5 |NE 1.5 |ENE 2.0 |E 2.6 |NNW 51| & 2 H3 | 0.1 [10.0 | 6.6 | 6.4
28]22.3 |18.3 [19.5 [NNE 3.6 |NNE 3.0 |ENE 2.6 |NE 6.2 | & —HFREN EA H3 | 0.5 [12.0 | 5.8 | 6.4
29124.2 |16.9 [19.9 [NNE 2.6 |NNE 3.0 [E 6.2 |NE 7.2 | B i H3 | 9.9 [30.0 | 8.9 | 4.2
30024.3 |16.8 |20.2 |N 2.1 |E 3.0 |E 3.1 |NNE 3.1 | W i 5 | 9.0 [15.0 | 8.4 | 3.6
) RIE. EE - B, KRR, BREOREL, iR RSB 080T — % 2R,
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TR 1 791 0AH

o X1 B Firl 3
# S izh - BOE ES e B S E
C m,/ s EET K IH] N I £ °C
=l EEI A EES 0 Of T 20F 150 T000m| (06~18h) (18~3Fo06h) [ & | [# km| O9FF[ 21FF
1§25.9 [17.7 [21.8 |sw 3.6 |SW 7.0 |S 5.2 |SSW 8.7 | T RS F1 [11.0 [25.0 | 7.3 | 2.3
2030.2 |19.8 [25.2 |wsw 2.1 |sw 5.0 |sw 5.2 |w 4.1 | W MG #% 2 H5 f10.6 [40.0 | 0.2 | 0.7
3125.8 [19.5 |23.3 [N 3.6 |E 5.0 |ESE 3.6 |SSE 3.1 | & e H3 | 1.7 [40.0 | 7.7 | 8.4
4]25.2 |18.7 [20.3 |N 2.1 N 2.0 |sw 3.6 [ssw 12.9 | & R — A F3loa4also] 1ol 34
5020.0 |17.5 |18.8 |E 2.6 |ENE 2.0 |E 4.1 |E 4.1 | W 5] F3loo]s50]|55]) 46
6]22.0 [17.1 J19.2 N 3.1 N 3.0 [N 2.6 |NE 5.1 | & IR = FBloolsols51]37
7125.1 [18.3 |21.3 [N 2.1 |E 4.0 |ESE 1.5 |SSE 5.1 | BEE FRIRE 2 2% H5 | 5.8 [20.0 | 6.1 | 4.5
8)26.4 [20.7 |23.6 |S 4.6 |sw 6.8 |SwW 6.7 |Sw 14.9 | & B2 [ F2l1o]90]27]53
9l21.4 |17.5 [18.8 |NE 2.6 |NNE 2.0 |NNE 2.1 |NNE 8.2 | ke R — MRy F3 ] 0.0]30]|59] 5.6
10017.9 [16.5 |17.1 |N 6.2 [N 3.0 [N 4.6 |E 8.7 | Mkx 2 R — B A F3loo]so] 48] 42
11]20.8 [16.5 [18.4 |N 4.6 |N 4.0 |NNE 3.6 [ENE  11.8 | &2 XA F3loo|8of66]61
12023.3 [16.4 |18.9 [NNE 3.1 |\NNE 3.0 |NNE 2.6 |NE 10.8 | #% SIS H3 | 5.8 [25.0 | 8.7 | 5.3
13]23.8 [14.8 ]19.1 |N 3.1 |NNE 2.0 |E 2.6 |ENE 2.1 | W I — H5 §10.5 [30.0 | 9.0 | 2.6
14]25.1 [16.0 |20.6 [N 2.6 |ENE 2.0 |ESE 1.5 |sw 6.2 | HERFx 2 2 H5 | 8.5 [15.0 | 5.2 | 4.4
15§25.5 [19.1 [21.6 [N 2.1 |NNE 2.0 |ESE 2.1 |[Ssw 8.7 | & Kt E FijJa21]70]55]3.0
16]20.3 [18.1 [19.0 [NNE 3.1 [ENE 2.0 |NE 2.6 [NNW 3.1 | ks 2 BN F3foofz0]4a1]32
17018.7 [16.1 |17.1 |N 4.6 IN 4.0 IN 4.6 |E 7.2 | WE—REE | W F3 00| 1.5 37/ 3.2
18]17.2 [14.5 |16.3 |N 4.1 N 6.0 [N 4.1 INE 1229 | B 2 [ Tloo|l40] 51|35
19020.2 [15.7 |17.3 |N 3.6 |NE 4.0 |NE 3.1 |NNE 8.7 | & B 4 3] 0.5 100 49] 3.8
20§22.3 |14.7 [18.1 |N 4.1 |N 4.0 |NNE 3.1 INE 7.2 | P R 2 i H3 | 9.7 [25.0 | 7.4 | 4.3
21§22.0 [15.9 [18.0 |N 5.2 N 3.0 |E 4.1 |E 8.2 | EMFxlE = H3 | 2.5 [15.0 [ 8.2 | 4.5
22018.6 |15.4 [17.0 |ENE 1.0 |SE 1.0 |SSE 2.6 |ESE 4.1 | mEx 2 A L1 | 0.0 100 45| 5.3
23021.7 |12.2 [17.2 |W 3.6 |wsw 4.0 s 3.6 |WNW 139 | pems i3 H1 J10.6 [30.0 | 8.2 [-0.5
24)22.5 |13.5 [17.8 |E 1.5 |ENE 3.0 |ESE 3.1 |s 3.1 | W & H1 | 9.5 [20.0 | 5.2 ] 4.1
25022.7 113.9 [18.1 |N 1.5 |s 1.0 |s 3.1 |wNw 8.2 | W R B H1 | 9.8 [30.0] 3.4 | 2.0
26f18.1 [14.5 [15.8 |N 3.6 |NE 3.0 [ESE 3.1 [SSE 2.1 | 2% TR 2 22 w3l o 1205439
27018.4 |13.5 |15.0 N 3.1 N 5.0 |NNE 2.1 |Wsw 2.1 | W Je 327 45]38] 09
28)21.4 |12.5 [16.9 |N 1.5 |SSE 3.0 S 4.6 |SSW 3.1 | Pems i — H2 ] 9.6 | 6.0 ] 3.3 5.2
20023.2 |14.9 [18.2 |sw 3.6 |sw 6.0 |wsw 3.6 |sw 13.9 | 2%W BN L3 1.3 [15.0 | 2.7 | 2.4
3019.4 |16.0 [17.4 |\NE 3.6 [N 3.0 |E 2.1 |SE 3.1 | 2 7 HL ] 0.7 [30.0 ] 7.9 | 5.4
31017.2 |12.6 |14.5 |N 4.6 |NE 3.0 |E 6.7 |NNE 4.1 | =N i H1 | 3.8 [10.0 | 5.2 | 4.9
PRl 71 1A
= <] B ] %
# &R & 1A JE K & ol i E
C m,/ s A &I EN S & °C
=0 1B RS 0 9 1 21 T 50F T0O0Om (06~18h) (18~Foeh) | ™ | M km|[ OOWF[ 21MF
1J17.6 1 9.9 [13.9 |NNE 3.1 |E 5.0 |E 3.1 INE 5.1 | Tehe T H2 J10.1 [30.0 [ 5.5 | 0.2
2§18.2 | 9.6 [13.9 N 3.1 |E 3.0 |SE 1.5 |ssw 7.2 | W T 2| 9.8]180f 22|20
3118.6 [11.9 |14.9 [N 2.6 |NE 2.0 |SSE 1.5 |sw 6.2 | &N B —E| H2 | 3.7 8.0 ] 2.7 | 2.6
4§20.6 |11.6 [16.0 |NNE 1.5 |ESE 2.0 |E 2.6 |NNE 4.1 | s i H2 | 9.4 [10.0 | 3.2 [-0.3
5020.2 [12.6 |16.5 [N 2.1 |ESE 2.0 |SE 2.1 |SSE 2.1 | W B H2 | 9.3 [10.0 | 0.8 | 3.8
6]16.4 [13.2 [14.2 N 2.1 [NNw 2.0 |\NE 2.1 [s 6.2 | ZHW KR L2 —[9.0]44] 238
7022.9 [13.7 |17.4 [w\w 2.1 |\NNE 2.0 |Ssw 2.6 |NNW 11,8 | IR G — H1 | 5.6 [30.0 | 4.9 |-0.1
8)21.7 |12.9 [17.1 |SE 1.0 |sw 6.0 |wsw 7.2 |sw 9.8 | e e L1| 9.4 (2.0 40| 4.7
9019.1 |10.1 [14.6 |SE 1.5 |sw 3.0 |sw 3.1 |sw 7.2 | B 2 H1 | 9.6 [40.0 | 5.0 | 3.5
10017.9 [10.4 |14.0 |N 2.1 |ESE 3.0 |SSE 2.1 |wNw 3.1 | W i & 2 H5 | 8.2 [40.0 | 5.1 | 0.3
11]15.0 [10.0 T12.9 [N 1.0 [SSE 1.0 |E 0.5 [sw 3.1 = R 2 2 H5 —[10.0 [-3.5 [-2.3
12019.2 [10.9 |13.7 |N 4.6 IN 4.0 IN 5.2 |NNW 11,8 | W§—BER I — H1 | 5.8 [10.0 | 5.2 | 0.4
13]16.8 [11.0 |13.8 |E 2.6 |E 2.0 |ESE 1.0 |wsw 7.2 | %R £ H2 | 6.4 [30.0 | 3.7 [-3.0
14]15.6 [10.3 |12.9 [N 2.6 |N 2.0 |NNE 2.1 |s 5.1 BN H1 8.0 07] 3.8
15013.0 | 9.2 |10.7 [NNE 4.1 IN 2.0 INE 1.5 |NNE 5.1 A H3 | 0.5 [20.0 | 7.0 | 5.9
16§14.7 | 7.8 [10.8 [N 3.6 |\NNE 4.0 |E 4.1 [wNw 3.1 = H3 | 8.7 [30.0 | 6.8 1.7
17013.2 | 7.9 |10.1 [NNE 3.1 |NE 3.0 |E 4.1 |s 2.1 R | H | 7.9 [25.0] 3.7 ] 4.0
18]13.6 | 6.1 ] 9.9 |N 3.6 |ESE 3.0 |E 1.5 |ssw 2.1 I — H1 | 9.2 [40.0 | 5.1 | 0.6
19014.3 | 7.6 |10.5 [N 6.2 [N 6.0 [N 2.1 |\w 15.9 B I HL | 7.1 [50.0 | 5.3 [-0.8
2013.8 | 7.6 [10.2 |\NE 4.6 |NE 3.0 |E 2.6 |Nw 8.7 fif Hi | 6.1 [40.0 | 4.9 | 4.7
oiff12.9 5.4 87N 4.1 |NE 2.0 [E 2.6 [SE 3.1 L H2 | 4.3 [25.0 | 40 0.3
22§15.7 | 5.1 [10.2 |N 2.1 |NNW 1.0 |ESE 2.1 [wNw 3.1 I — H2 | 9.3 [10.0 [-0.2 | 4.3
23)15.0 | 6.8 [10.7 |N 4.6 [N 2.0 |E 2.1 |SE 3.1 | R | 2 H2 | 6.3 [10.0 | 2.3 | 3.7
24§16.5 | 7.4 |12.1 [N 2.1 |ESE 1.0 |SE 2.1 |Nw 5.1 | BE—MWEe | P n2 ] ssfi2of 1.2 ]-0.1
25015.8 | 8.2 |11.5 |N 3.1 |E 2.0 |ESE 2.1 [s 3.1 | W—Kp i H2 | 6.6 | 8.0 ] 3.7 ] 4.6
26]16.3 | 7.7 [11.9 |N 1.0 [ENE 1.0 [ESE 2.1 [wNw 8.2 | Wit I — A H2 [ 6.7 100 1.1 1.7
27016.1 | 7.5 [11.7 N 1.5 |ENE 1.0 |E 2.6 |sw 5.1 | W SIS H2 | 8.1 80| 1.3 [-1.2
28]16.2 | 7.7 |12.9 [N 2.1 |ESE 3.0 |E 2.1 [wNw 6.2 | WMz I 2 A H4o | 7.5 [10.0 ] 0.9 | 4.8
29]20.1 |11.1 |15.6 |[SW 7.7 IN 6.0 [N 7.2 |sw 21.1 | B x g A F2 | 3.8 [15.0 [-0.7 | 1.6
30§15.1 | 7.9 |11.0 |N 4.1 |ESE 3.0 |E 2.6 |W 14.9 | W2 W — e H1 | 8.4 300 6.2] 1.6
) RIR, EE - R, KRR, ARROWERIL, BURt ) [REE 08T — X 2R3
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TR 1 712 A

ES X1 B [ 3
F# R B JEIOE BN gl x| W iE
°C m,/ s EET K IH] N 2 £ °C
=l EEI A EES 0 OFf T 20F 150 T000m| (06~18h) (18~3Fo06h) [ & | [# km| O9FF[ 21FF
2.1 ]6.7]9.3N 4.1 |E 3.0 |SE 3.1 [WNw 7.2 | THE | e H2 | 8.8 [20.0 | 6.0 [-0.2
od14.4 [ 5.1 ] 9.7 N 2.1 |E 2.0 |E 2.6 |w 12.9 | 2% —WF | 2 g F3 | 5.2 100 |24 23
1.1 | 6.2 | 8.4 NNE 3.1 |NNE 2.0 |ESE 2.1 |Nw 13.9 | Wsmr 2 2 —mERe| P HI | 4.1 [30.0 | 5.9 | 4.0
4 8.4 | 47| 62N 3.1 |SE 3.0 |SE 1.5 |wNw 6.2 | %W B2 F2 30.0 | 3.3 3.2
5012.7 | 3.0 | 7.3 [w 5.2 |wsw 4.0 |Nw 2.1 |ww 15.9 | mF i Hi | 9.5 |50.0 | 6.5 | 2.6
6] 9.7 3.6 | 6.6 N 5.2 IN 7.0 [N 4.6 |NE 7.2 | BN EH e H1 | 5.4 [10.0 | 6.4 | 0.8
1.3 | 43| 7.7 N 2.6 [N 4.0 [E 3.1 INE 3.1 | B 2| n2 ] 8.6 [25.0 [ 2.7 | 0.7
gji1.2 | 4.5 | 7.8 N 3.1 N 2.0 |SE 1.5 |SSE 4.1 | Pems i H2 | 8.2 [20.0 | 43| 1.3
of14.2 | 40| 9.1 |N 1.0 |SSE 1.0 |sw 5.2 |w 10.8 | Pemg e H1 | 9.4 [15.0 | 1.2 | 2.8
10§13.6 | 4.6 | 9.3 |sw 3.6 |sw 6.0 |sw 5.2 |w 12.9 | Pems i H1 | 9.4 [30.0 | 3.2 | 1.3
1 8.4 47| 6.3|nN 4.1 |NNE 3.0 |NNE 3.1 |Nw 7.2 | B T H1 —[30.0] 3557
12§10.0 | 3.2 | 5.6 N 2.1 |ESE 3.0 |Ssw 3.1 |sw 4.1 | W i H2 | 7.0 [30.0 | 2.5 .5
13 9.2 1.8 | 5.0 |N 3.6 |SE 3.0 |W 4.1 W 14.9 | W SIS H1 | 6.9 [30.0 | 7.0 | 1.3
14 9.7 [ 0.9 | 5.1 |NNW 0.5 |NNW 1.0 |wsw 3.1 |w 9.8 | W PSi H1 | 8.7 [40.0 | 2.2 .0
150 7.8 1.5 | 4.8 [N 4.1 |E 3.0 [E 2.6 |Nw 7.2 | Wi i Hi | 7.8 [35.0 | 4.3 .0
16§10.7 [ 1.8 | 6.2 IN 2.6 [E 2.0 [s 2.1 [WNW  10.8 | P L H1 | 9.4 [20.0 | 1.2 .2
17119 | 1.6 | 6.6 |W 3.1 |sw 6.0 [wsw 8.8 |W 6.2 | P e L1 9.4]60.0| 1.4] 4.0
18] 6.2 | 1.2 | 3.7 |NNW 4.1 |NNW 7.0 [N 2.1 |\w 14.9 | P PSi H1 | 8.8 [40.0 | 8.0 | 1.2
19 9.1 | 0.2 | 4.5 |wsw 4.6 |NNE 4.0 |NNW 6.2 |W 19.0 | W TSI H1 | 9.4 [40.0 | 6.1 .3
20010.8 | 1.0 | 6.1 N 2.6 |E 2.0 |ESE 2.6 |\ 2.1 | g 2 H1 | 9.3 [40.0 | 3.8 [-0.8
21]12.3 1 3.4 | 7.1 N 2.1 |SE 2.0 [sw 7.2 [ssw 4.1 | BE—We: | wmr e 2 —m5E) L1 | 6.2 [10.0 | 0.5 .5
221 9.5 | 2.4 | 5.8 | 5.2 |w 4.0 |WNW 6.2 |[WNW  19.0 | WM< i H1 | 5.1 |25.0 | 6.6 | 6.3
23 9.7 | 1.6 | 5.3 [wsw 4.6 |sw 5.0 |wsw 7.7 |w 10.8 | pemg VSIS H1 | 9.3 [30.0 | 4.4 [-0.6
241 9.0 | 1.5 | 4.7 N 5.7 IN 4.0 |NNW 5.7 |NNW 7.2 | E—EE i HI | 7.4 [20.0 | 4.9 | 2.2
251 9.0 ] 1.0 | 5.5 |N 1.5 |E 2.0 |wsw 3.6 |sw 8.7 | &tk it L1| 58 [40.0 | 1.5 4
26 9.6 | 2.7 | 5.7 N 4.6 N 5.0 [N 6.7 |WNW 22,1 | B e PR H1 | 8.1 [30.0 | 6.8 .5
271 8.7 1 0.8 | 43 |N 2.1 |Nw 2.0 |s 3.1 |wNw 159 | s e H1 | 8.8 [40.0 | 7.0 | 4.2
28] 9.1 | 1.5 | 4.4 N 5.7 IN 5.0 N 4.1 |\w 15.9 | Pems i — H1 | 9.3 [40.0 | 8.0 | 3.3
29] 9.6 | 2.3 | 5.2 [N 4.6 IN 4.0 IN 3.1 [wNw 7.2 | W R I H1 | 7.3 [40.0 | 6.9 | 1.8
300 9.5 2.7 5.5 |N 1.5 |ESE 3.0 |sw 3.6 |w 5.1 | W SIS H1 | 8.1 [30.0 | 2.0 [-1.2
311 8.2 | 3.1 ] 50N 9.3 IN 8.0 IN 5.7 N 4.1 | WEE— WM | 22— W H1§ 9.0 |25.0 | 8.1 .0
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=l EEI A EES 0 OFf T 20F 150 T000m| (06~18h) (18~3F06h) [ & | [# km| O9FF[ 21FF
158 1.4]36]N 4.1 IN 3.0 IN 2.6 |SwW 6.2 | = =Ry H3 f o.5 [25.0 | 2.5 3.8
ol 47|27 38N 2.1 N 3.0 N 2.1 |w 7.2 | WFe 2 B 2 L3 —120.0 |-4.9 |-0.1
i1 | 1.3 | 4.4 [N 1.0 |wsw 6.0 IN 6.7 [WNW  11.8 | ¥ 1% — Wi HL | 7.2 [40.0 | 0.4 | 5.6
4 5905 32N 2.6 |E 1.0 |ESE L5 |WNW 139 | & 2 H1 9 130.0] 6.5] 1.8
50 6.1 ] 0.8 ] 3.2 N 3.1 [N 2.0 |N 3.1 |w 14.9 | SR 4 I 1% I % = H1 ] 1.5 ]30.0 | 3.0 | 5.3
6] 3.7 [ 0.9 ] 2.2 INN\E 2.6 N 4.0 IN 2.6 |\W 6.2 | & A H1 —130.0] 6.0 4.7
71 6.9 [-0.9 | 2.5 [N 5.2 [N 5.0 |NNE 4.6 |ENE 5.1 | W VSIS H1 | 8.7 [20.0 | 43| 6.6
8] 8.2 0.1 3.6 |N 3.1 N 3.0 [E 2.1 |[WNW 118 | i H1 | 6.5 [30.0 | 6.5 ] 6.1
9f 6.5 0.1 | 3.5 |NNE 2.6 |NE 1.0 |E 2.1 |w 3.1 | Wi nenesgs| H2 | 5.5 130.0 | 3.8 | 5.1
10 7.7 0.7 | 4.2 |NNE 2.1 |E 2.0 |ESE 2.6 |ESE 4.1 | HE—FE i H2 | 7.2 [15.0 | 3.1 [-0.3
tfro.5 [ 1.1 | 5.7 [N 2.1 |NNE 2.0 |SE 3.1 |wNw o 14,9 | I T Hi | 9.1 [10.0 | 1.0 | 4.5
12§10.0 | 2.4 | 5.8 |w 1.5 |ENE 1.0 |SSE 2.1 |wNw 13.9 | W B H2 | 8.8 [15.0 | 4.6 | 2.9
13] 5.3 2.0 4.0 |N 5.7 IN 6.0 [N 3.6 [S 8.2 | & Wi Ly S ] H5 —[25.0 | 2.0 ] 0.7
14§11.4 | 4.5 | 6.9 INE 1.0 N 3.0 N 4.6 |sw 25.2 | Bk, maeks | wonsmum, meeo | L2 —| 3.0]-63] 3.2
15014.3 | 8.0 [10.4 |NNE 3.1 |NNE 3.0 |E 3.1 |wNw 3.1 | WA 2 | Eirx H1 3 130.0]56]6.5
16§10.9 [ 7.2 | 8.8 IN 2.1 N 5.0 [E 2.6 |SSW 51| 2 AR 2 [ 3fo3]ool 44]5.2
17§10.8 | 4.5 | 7.7 |N 5.7 IN 5.0 [N 2.1 |Nw 3.1 | Ehfxi = H1 5130.0] 7.8] 3.5
18] 7.6 | 3.1 | 5.1 N 5.2 N 5.0 N 3.1 |wNw 7.2 | 2w % H1 30.0 | 8.3 | 5.4
9y 7.7 2.3 41N 7.7 IN 8.0 [N 6.7 |Nw 14.9 | By A — H1 .1 [30.0 | 9.1 | 7.8
200 6.5 | 1.5 | 4.0 N 6.7 INE 2.0 |SE 2.6 |WNW 7.2 | & 2% F3 ] 5.5 [30.0 | 1.8 ] 3.0
21 4.9 1-0.3 1 0.9 |N 6.2 [N 5.0 [N 4.6 [E 6.2 | X5 e L3 —120] 40| 46
22 4.8 1.0 | 2.2 N 5.7 IN 4.0 |ESE 1.5 |sw 2.1 | WE—Kp # H1 | 2.9 [40.0 | 2.7 | 0.5
23] 5.6 |-1.1 | 2.4 [w 4.1 IN 7.0 IN 8.8 |WNW 231 | Hem§ VSIS H1 | 9.8 [40.0 | 9.2 | 5.4
24] 9.4 |-1.3 | 4.0 |w 1.5 |NNE 2.0 |ESE 3.6 [WNW 14.9 | 1§ i H1 | 9.9 [40.0 | 6.5 | 6.1
250 9.5 ] 1.8 | 5.0 [N 3.1 [N 4.0 |ENE 1.5 |w 10.8 | B — s i Hi§ o.1]300] 56 23
26]11.4 | 0.8 | 5.3 [sW .o [E 2.0 |Ssw 2.1 |[WNW  15.9 | i L H1 | 9.5 [40.0 | 6.2 | 7.2
27010.5 | 2.1 | 5.7 [N 3.1 |sw 3.0 |SE 2.6 [WNW  10.8 | ¥ I — H1 | 7.7 [15.0 | 5.1 | 5.0
28] 9.8 |1 3.0 | 5.4 N 6.2 N 4.0 N 5.2 |\ 12.9 | P PSi H1 | 9.7 [30.0 | 83| 2.2
29] 9.3 ] 1.8 | 5.8 |N 3.6 |NE 2.0 [E 2.6 |S 4.1 | W i H2 | 9.2 [30.0 | 5.5 | 2.4
30013.3 | 2.4 | 8.1 N 2.6 [SE 1.0 |E 2.1 |w 8.2 | W fi5t% —Mpda: | H2 | 9.0 |10.0 [-4.1 | 0.5
311 9.6 | 5.2 | 7.0 |N 2.6 |E 5.0 |ENE 2.6 |SSE 6.2 | FkEx S 55 F3 —| 80| 1.4] 3.4

) RIE. EUR - R, KA. BREOMERI, iSRS E 0BT — % 2R84
JEE - B D1, 000miE, FERFEERRED OEOT — X 2R L, BEEIZFRXSEEICE D0 E L1, 000mE OREREEZRT

EEHm 49



k1 84E2 A

R 50

ES X1 B [ 3
F# -] JELOE B S B iE
m,/ s ECH ®wH R F JE °C
=0 BT R30S 53 TO0O0m| (06~18h) (18~F06h) | 7 | R [OOTF] 211
18044 44N 4.6 |N 6.0 |N 5.2 |SE 10.8 | XM FRIE 2 2140 | L3 —| 40]35] 22
21 9.9 | 5.2 .2 N 3.6 |NNE 2.0 |E 2.6 [NW 15.9 | & fi5t% —Mpda: | HL | 0.8 |40.0 | 6.0 | 6.4
3013.4 | 3.0 | 1.0 [N 2.1 |w 5.0 |SSW 5.2 |w 5.1 | MWWz | ERparg H1 | 8.6 [15.0 | 1.9 | 7.8
4] 5.7 [-0.9 1N 6.2 N 7.0 [N 5.2 |WNW 6.2 | WML i —mpss H1 ] 8.5 [40.0 | 9.8 | 5.0
50 6.8 [-2.2 .2 N 3.6 |NNE 3.0 |SE 2.1 |WNW 14,9 | B i H1 J10.1 [40.0 | 7.3 | 4.8
6] 5.4 | 0.1 .1 |NNE 2.6 N 3.0 [E 3.1 |Ssw 51| & = L2 | 1.of40.0 | 3.7 ] 3.9
7012.3 | 0.4 .4 N 3.1 |NNE 1.0 |s 3.1 |SSE 7.2 | BH—EEE | P i1 .0 | 3.0[-3.4]-1.5
8j12.7 | 4.3 .3 |wsw 4.6 |sw 3.0 |wsw 6.7 |w 8.7 | W i H1 f10.0 [30.0 | 4.8 | 3.3
9f 8.4 | 2.1 .0 N 6.2 [N 7.0 |NNE 2.6 |WNW 17.0 | P e H1 .2 140.0 | 9.0 | 2.9
10§11.8 [-0.7 .7 |NNE 1.5 |sw 7.0 |wsw 8.2 |sw 8.2 | P Si H4 §10.2 [20.0 | 2.4 |-2.1
11f12.8 | 2.0 | 2.0 |ENE 1.0 |ESE 2.0 |SSE 3.6 |WNW  10.8 | i e H4 f10.0 [ 9.0 [ 2.7 ] 3.1
12 8.4 3.2 1.0 |N 5.7 IN 4.0 N 4.6 [NW 10.8 | WE—Kp i H1 .2 140.0 | 6.8 | 6.6
13§10.8 [-0.6 |-0.6 |NE 1.5 |ENE 3.0 |s 3.1 |SSW 15.9 | i TSI H4 | 9.4 [20.0 | 3.7 [-6.3
14§18.2 | 2.2 | 2.2 |ESE 1.5 |E 2.0 |sw 5.2 1s 8.2 | W SIS L1 f10.2 | 9.0 |-5.4 |-4.7
15§18.5 | 9.6 | 9.6 [N 3.1 |ENE 1.0 |ESE 2.1 |wsw 5.1 | B A H4 | 6.0 [10.0 [-3.7 ] 4.1
16]11.8 | 6.6 | 6.0 |NNE 3.6 |NNE 3.0 |NNE 2.6 |ESE 8.7 | Mi—M R 2 2 F3 —| 50]20]| 28
17] 9.0 | 6.1 | 2.8 |SSE 1.0 N 6.0 [N 5.2 |WNW 8.2 | & B[R H1 —|40]42]70
18] 6.3 | 0.6 | 0.6 N 4.6 |ESE 3.0 |ESE 2.6 |Wsw 7.2 | 22— 2R H1 .5 130.0 | 5.5 | 4.2
19 9.1 ] 3.8 3.8 N 3.6 [N 3.0 |ESE 2.1 |SSE 3.1 | & = H2 | 1.0 [10.0 | 5.7 | 5.9
200 7.4 ] 58] 3.5 |N 3.1 N 3.0 [NNW 5.2 [SE 5.1 | fi—K RRREE F3 —| 60] 71| 3.6
21010.5 | 3.5 | 3.9 |[NNE 3.6 [N 4.0 |NNE 3.1 INE 4.1 | & = 13 —[80]36]60
22015.6 | 6.7 | 6.7 |ESE 3.1 |ESE 4.0 [sw 5.2 [sW 3.1 | WK Tl — RN H2 .6 110.0 | 8.0 | 4.7
23]15.4 | 8.2 | 8.2 N 2.1 [E 4.0 [E 3.1 |ENE 2.1 | HE—RE | 2 H3 | 5.8 80| 41] 4.1
241 8.5 | 6.6 | 3.8 [NNE 3.1 |NNE 4.0 |NNE 3.6 |NE 5.1 | &%l 5] F3 150 | 7.0 ] 5.1
25012.4 | 3.8 | 4.0 N 4.6 |E 4.0 |E 3.6 |E 2.1 | Witk fL3 H5 10.0 | 5.5 | 4.1
26] 9.3 ] 5.3 5.3 |N 4.1 |NNW 4.0 IN 4.1 |SE 18.0 | Ky 2 L3 8.0 2.6 |-3.5
27§11.2 | 8.2 | 5.9 |N 7.7 |NNE 5.0 [N 4.6 |w 7.2 | HE = H1 25.0 | 4.5 | 7.7
28] 5.9 ] 3.9 3.0 [NNE 2.6 |NNE 3.0 |NNE 3.1 |SE 3.1 | & e F3 30.0 | 7.5 | 5.9
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=l EEEA EE3S IS i T 50 TO0O0m| (06~18h) (18~F06h) | 7 | 1 00WF] 21MF
180 26] 54N 6.7 IN 6.0 IN 2.6 |ESE  13.9 1% 2 L2 —| 20201 20
2§10.6 | 6.1 | 7.9 N 5.7 IN 6.0 N 3.6 |s 5.1 EXE VA H3 | 0.8 [20.0 | 7.0 | 6.9
31 9.4 3.3 5.9 [ENE 2.1 [E 2.0 |ESE 2.6 |WNW 4.1 LI H1 418018250
4 9.9 2.7] 63N 4.1 |E 4.0 |E 3.6 |NE 1.0 S H2 §10.7 [25.0 | 7.5 | 3.8
5013.8 | 2.5 | 8.3 [N 3.6 |ESE 3.0 |wsw 5.2 |SSE 3.1 i H2 §10.6 |15.0 | 5.0 |-0.1
616.2 | 6.3 .8 |wsw 7.2 [sw 9.0 |sw 7.2 [Wsw o 12.9 e F2 | 1.6 [20.0 [-1.4 | 4.6
7012.7 | 8.3 .0 |NE 2.6 |NE 3.0 |ENE 2.6 |SE 5.1 EA 323150 7.9 6.3
8j19.0 | 5.7 .6 N 1.0 |E 3.0 [E 2.6 |w 14.9 [ H2 f10.1 | 7.0 | 0.8 | 4.2
of11.1 | 7.7 .8 |E 2.6 |ENE 3.0 |ESE 4.1 |sw 4.1 Bt R H3 | 0.8 [10.0 | 7.0 | 4.9
100 8.1 ] 5.3 1N 7.2 N 6.0 N 7.2 |E 6.2 | & 2 IEsaE| L3 —|50]81]5.38
11f16.3 | 6.2 .5 N 1.5 |ESE 3.0 [sw 4.1 INE 1.0 | P 1% H4 f10.6 [10.0 | 5.2 | 1.5
12§18.4 | 6.6 |14.4 |sw 6.7 |sw 9.0 |sw 10.8 |sw 129 | 2 2 F2 | 2.9 2.0 20| 2.4
13 9.3 [ 3.2 .4 |NE 3.1 N 2.0 |ESE 1.5 |Nw 8.7 | & Rl B H1 | 0.9 [30.0 | 9.0 7.5
4.3 | 1.6 .5 |s 3.6 [SSW 4.0 [wsw 4.1 |wsw 6.2 | ML IR i H1 | 7.5 [20.0 | 8.6 | 4.0
15§13.3 | 1.7 .6 N 2.6 |ESE 4.0 |s 3.6 |sw 9.8 | i Jef H4 J11.1 J15.0 | 8.0 | 3.7
16§17.3 | 5.5 .7 N 2.1 |wsw 4.0 |Ssw 7.7 [sw 9.8 | WEtLE Ml | &M —ReE| L2 | 3.0 [10.0 | 3.9 | 5.7
17§18.3 | 9.5 .3 |wsw 2.6 [NNW  10.0 N 8.2 |WwW  27.8 | —HE i H1 | 7.6 [30.0 | 7.3 | 2.6
18§16.9 | 6.7 T |E 1.0 |s 6.0 |SSW 4.1 |SSE 5.1 | WERE—WEN | ERE2 i/l H5 | 6.5 [10.0 | 6.9 | 4.8
19§16.1 | 4.8 | 9.9 |NNE 3.6 N 8.0 [N 6.7 IN 9.8 | iy iR | P Hi | 1.5 80| 50| 7.5
20014.0 | 4.1 .3 N 6.2 IN 2.0 |Ssw 5.2 |WNW 15,9 | K i H1 §10.7 |60.0 [10.6 | 6.0
21]16.8 | 5.7 .2 |Ssw 2.1 |SSE 3.0 |Ssw 5.2 |WNW  15.9 | i L H2 f10.3 [25.0 [ 7.9 | 5.5
22113.2 | 6.7 .7 INE 2.6 |E 2.0 |Ssw 3.1 |w 8.2 | & 5] H5 | 3.8 [15.0 | 5.7 | 4.0
23]13.7 | 6.8 .8 N 6.7 IN 4.0 |SE 3.1 |NNE 7.2 | 2w | 2R L3 1980 29]39
24]14.1 | 7.8 |10.7 N 7.7 N 6.0 N 5.2 |\ 8.2 | &g 2 H1 | 3.7 [25.0 [10.6 | 8.4
25015.3 | 7.3 .6 |NNE 3.1 [E 3.0 |ESE 3.6 |WNW 3.1 | BE—RFE I — W H2 | 8.0 [20.0 | 87| 4.3
26]17.4 | 9.6 [13.1 [wsw 2.6 |WSW 5.0 |sw 6.7 |SSW 129 | & T Fif 22150 70 5.3
27116.1 | 9.3 .2 INE 2.1 [E 4.0 |ESE 5.2 |NNW 3.1 | WEREx & = H3 | 7.4 [10.0 | 7.1 | 6.2
28017.5 1 9.1 .4 N 2.6 |SE 3.0 |SSE 6.2 |SSE 5.1 | E%N e, waes | L1 | 5.4 [15.0 | 4.8 | 7.1
29113.7 | 6.0 | 9.6 [WNW 3.1 |Nw 9.0 |Nw 6.2 |Nw 22.1 | W VSIS H1 | 8.5 200 9.8 5.5
30013.1 | 3.8 L7 |sw 5.2 |Wsw 8.0 |s 3.6 |Wsw 8.7 | Wit i — Wy L2 ] 7.8 [30.0 | 7.4 | 8.4
31]12.7 | 2.7 LT |E 2.6 |sw 3.0 |s 3.6 |WNW 12,9 | P SIS H1 f10.5 [40.0 [11.5 | 6.6
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